S FR W 3 =

50UA2. 45-51/61 (UA2-4)
50UA2. 45-52/62

fEENofc— 000671




R TR : 50UA2.45-52/62

EHNo. A BE O - EERTEE

U(2)-73-1-1 0.4KW 100V 50mm -

No. BRES mé B g &

1 801106486189 |70-h 17t [ AL2-271(400L/400L)

2 801109111189 | 70-p&#§7°v1 1|13 NBR

3 801143072259 |4yt° v fals 1|M4x16 SUS304

4 801109108259 | 70-pZH%I°47° 1| VP-13x300I(7Tft, Be) 5

5 801109138119 | 70-F&HHN°47° 1| VP-18x200I(73f, BE) 5

6 801143072259 |4yt° v fal 1|M4x16 SUS304

7 801109110179 |70-p&#§7°v1 1|p18 NBR

8 801127106169 | 70-M°47° Hi ~h 1 tilfg

9 801144330149 |4yt° vy fal 1| Max15({LAEL" 7) SUS304

10 801143034389 |~/Mal 2 [M5x25 SUS304

11 801140427179 | 7<AH° M(EERH) 2 [M5x15 SUS304

12 801009120179 |BiisiEMT 3[1-sD cu

13 801001845119 |47 941s-7"I(58)x6m 1|VCT3Cx1.2500(58)2P7° 57 TLBAY
801001802299 |47 441r-7"I(52)x10m 1|VCT3Cx1.2500(5%) LB
801001802329 |7 5415-7"h(58)x15m 1|VCT3Cx1.2500(58) LB
801001802459 |17 5415-7"I(55)x20m 1|VCT3Cx1.2500(5%) LB
*kkhkkkk |57 PEEFIBEEF D EZENVETY,

14 801140427179 | A M(CEERH) 2 [M5x15 SUS304

15 801003190109 |75 1 SUS316

16 801140000039 | +Fyuid7 <A hh(FRERAT) 2 [M6x25 SUS304

17 801068146389 |V ) 1|AR tilfg

18 801051155129 Ak hi*- 1 FC

19 801140021179 |7k I 4| M5x20 SUS304

20 801121252109 |/°yiy 1| p127.3xp144.8x3.5t NBR

21 801009001069 | 7-14 1% | 1.250x80L(FLIH T +917p)

22 801143085219 |B~A/IMAU (IF10EERAT) 1|M4x6 SWRM

23 801121268199 |1°Ay-h 1|35x50x3t YIH5-7°

24 801076000099 |17 4 1| 120MF-125VAC(L=60) )

25 801127129159 |17 WEESE 1|S-40024(E) SPC

26 801143086229 |B~A/IMAU (IF10EERAT) 1|M4x8 SWRM

27 801114000669 |&EIL-129h 17 [MSR-1

28 801141048139 | 755" f7<Mtyh 3[mMa SWRM

29 801144331159 | A99h i hh 3| M4x42(6/6) SWRM

30 801078103189  |3ELAMFAN - 1|Ms-3M SPC

31 801145002179 |5 IRt"Y 1|10/ SK5

32 801142207159 |%MEs® 1|910.5 SK5

33 801077109119  |&LAMyF 148 |MS-3-2

34 801143076299 |~/MAU (IF1aEERAT) 2| M3x6 SWRM

35 801143086229 |B~A/IMAU (IF10EERAT) 2 [Maxs SWRM

36 801016100139 |- #RE7* v1 1|S-40084(E) NBR




R TR : 50UA2.45-52/62

EHNo. thn BE O# - EERTEE
U(2)-73-1-1 0.4KW 100V 50mm -
No. BmES e fEE g k)=
37 801050245179 | £-97"Fhyb 1 FC
38 801143126389 | ~/IMAL ((EHa/FRES(T) 2| Max12(/hBush,) SWRM
39 801053264119 |{RELRE 1|KA112-BBTL21 @)
40 801142192169 |KzmESE 1| #6201F(D=32,t=0.4) SK5
40-1 801142451169 |EHEER 1| #6201H(D=32,T=0.25) SUP
41 801052100159 |#h3Z 1]162012zC3
42 801055001759 |[Ol#xF 148 | #3241
43 801147016109 | &himt- 1| 4x4x10L(m*L) SUS403
44 801061157159 [APUYI h7- 1(p15.1xp21x1.6t SPCC
45 801052101169 |&#z2 1]620222C3
46 801056005219 |EIEF 1K
47 801064290109 |E-%7L-A 1 FC
48 801035124129 |:FMI° 37" 1| M10x15(7xA7fT) SUS304
49 801121246119 |)°v$y 1(p10.3xp16x2t U=
50 801025000809 | ApZhld-lb 1| W-14HCEIROHS SSIC
51 801143070239 |l 2 [ M5x6(A1y#7 Uy7°) SWRM
52 801030157199 | #MIMI5- 1| W-14HLA Lilis
53 801122129109 |OUYI* 1(G-90(89.4x¢p3.1) NBR
54 801029240299 | #MM-3u7° 1| U2-4(M75-) B FC
55 801140252199 |7<AJTUIH b 3| M6x20 SUS304
56 801121339129 | )°v$y 1| p124xp144x3t NBR
57 801071112199 | &#AY-7° 1{plixp14.8x11l SUS430
58 801026100149 | #Mh>-) 1|SC-15287 NBR
59 801021C52179 | JIREE(50HZA) 1[50UA2.45-52H FC
59 801021C53189 | JI4REE(60HZA) 1|50UA2.45-62H4 FC
60 801142164199 |(FHmEsE 1{M10 SUS304
61 801141006779 |7<Afyh 1({M10 S45C
62 801140477129 | 7<AI WMFEREEAT) 4 [M8x30 SUS304
63 801020001829 | ¥7°5-3u9" (50HzA) 1|U2-4(T)/50Hz,U2-8T/60HzEY FC
63 801020001839 |k Y7°4-3u5" (60HZA) 1|U2-4(T)/60HzEL FC
64 801140059149 |7<Ai It 2 [M8x45(#1 L) SUS304
65 801048131129 |RUIAHIFVY" 1[{50mm(P.C.84) FC
66 801121138199 |y 1|LBEL(P.C.84) NBR
67 801141005189 |7<A&tyb 2| M8 SUS304
<°y0UsT ey b>
801173456179 | I\° 50Uy tyb 13| (*EN)
20 801121252109 | E-597" 35y ME-57L-0° ¥y 1|p127.3xp144.8x3.5t NBR
49 801121246119 |3FHI° 37 N vy 1(@10.3xp16x2t U=
53 801122129109 | E-%IV-L/#MN5-557" OVI5* 1(G-90(89.4xp3.1) NBR
56 801121339129 | MM-335" /K II°5-3007 ° vy 1{p124xp144x3t NBR




R TR : 50UA2.45-52/62

EHNo. Hih BE A% - EERTEE
U(2)-73-1-1 0.4KW 100V 50mm -
No. BREs B B s ne
66 801121138199 | UIAHIFTVY N\ vEY 1|LBE(P.C.84) NBR
MZAVS-\iEER

5-£"YilvG32 200ml

<PREHETE>

ZERL




